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Note: Answer any FIVE full questions, cru;ffit g ONE full question$ffi each module.

result of a program t

Consider the execution o$.e,,$udbject code with 2,00,0CI0'' instructions on a 400 MHz
processor. The program conq.i$$S of four major types Qf ir.{structions. The instruction mix and
the number of cycles (eP[)"needed for each instruction type are given below based on the

-.r$,"".- \
D "ffiiulate the average CPI

above trace results.

..-' ,,. Module-3
a. Explain the Fully - asqgitiii. ru.h.-rifr'ffi-tion with mapping examples. (10 Marks)
b. Design a pipeline unit 6r-fxed point multiplication of 8 - bit integers using CSA and CPA.

(Cany Save Adde Carry Propagation Adder).
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n'J$"" OR ru.. il.r'.' -8 a. Compaie the static and dynaffi'data flow compuffi. Draw the dataflow graph for

computing cos x. .* # - =ruffiy ,".JM
--4 *ftl' B+'..* *fl " e-5'-^^-r----e t '-*ffi - -"; *"

cos x = I - x'/^,* *t .@ '* \*" ''-S 
. 

(r0 Marks)-/21 ' 4t 6ro} \*, &

b. Explain the three typ6 of cache directoryqgo.ldcols. *.- (10 Marks)

. .,",il* - - **- -t - *J
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g a. Explain the Sftffid - Variable moffitOf?arallel models. +r (10 Marks)

Discuss the central and distributed arbitration

*****
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, What are the Forbidden latenciffi= ,,,.. .,, .i*

ii) Draw the state transition diagqgn. {.d
iii) List allthe sample and gre$fu@les. ,##,
iv) Determine the optimal co. t latency cycle and minifiutn average latency.

ine the ttroug$nptfuf the pipeline, if the pip*effie clock period be t : 20 ns.
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Module-4
7 a. Explain the cacffffiflerence problems in data.sharing and in process migration with possible

-. itrIq$:F"art. /-l n lt/[^ -Lo\

Consider the following pipeline reservation

51 lxl *sl 'lxl \
s; [t*f-]-- , *"o !--=.1 4+"1==-f-i I '
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.ffiS"*nce problerns in daqsdaring and in process migration with possible

d}*v*t .* 1,,"j.. (10 Marks)

arcifitecture of the conneerry.nfl#vmachine - cm - 2 with processor array and
t ..:j

solution. q*& . tu i ." (10 Marks)

b. Describe tho-arcffiecture of the conne@r'*machine - cm - 2 with processor array and

rle moffiipffiarallel models. +r

*r\:o*,'": 
tu.

a. Explain the Sfitrilgd - Variable moffii+f?arallel models. rt (10 Marks)

b. Describe*theryrinciples of Synffioffi2ation. *=.;a (10 Marks)

;*& Y , .. *fl \'r\
10 a. rxplffithe Tomasulo'X*W'rr1tn, with exaqnple. (10 Marks)

h f)o<$rihe the fnllnwi"d'-$ ,* '':.,:]csaffi"b. Desbribe the foltowing : !.* ; ';
"*+*dhR.order Bufferr,,# .itl Register He.'aaifilrg. (10 Marks)
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